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SECTION -1
gus - 1
MATHEMATICS

- :

; \ﬁ ~v1l4+sinx
01. The value of im Jacoalz 8¢

L

2

-ﬁ—v’l+sinx
J2cosix N T e

lim
o

2
2

1
@ 5 & 3 @ 1g

B | b

(1)

02. The value of l’:i_r‘g}?g(s-'-x}; log(5 _x] is :

jirg 108(5 = x) - log (5 - x) —T

x=0 X

2
mo @ 1 ® 3 @

03. The derivative of tan” (sec x + tan x) is :

tan’' {sec x + tan x) =l AR 8
1

i I
m -z @ 3 B (1+sinx)’

(4) coix
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‘ 3 d ‘
04. ife*+e' =¢""" then value of -d%-ls :

05.

g% ¢ + e’ = et YE - H‘:THFT%

1
1 e’ @ et @ €7 @ &

If 3‘-&[‘:9“9“‘1‘33““5 and y=asin@, then value of o 2 :

is:

dy
-@‘ X= ﬂ(ﬂﬂﬁe*lﬁﬂtﬂﬂ*] Y1 y =asind, ﬂ"T 9=— W o AR

2 dx’

%
: 4. s
m g @ = ° ® 3 - =

Ammtﬁdwnewa4ﬂcm and base radius’5 em. Water is
pomeﬂmmﬁatamteoflsncm per minute. The rate at which the
lcvelofwaterintheconeisnamgwhenthedepﬂim4cm ?

1 1 '
(1) T Thocm/sec (2 ﬁcmfaet:--l’m 'gxm;m %) g;w(m

e SHEl 9% @ TR 40 Yoo TuT WM FH BoEr 5 foHlo
21 1.5 e’ sty Pme &t 2@ & i weron <l ¥ o v
g 4 Fodlo B N i ¥ ot & a7 P FeA B W T

1) 15 Qolto/meE ) Hodo/Rws

O fAagorddE (T

P" 001
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. F1Y
07. The maximum value of | —] is :
L X

R
L; ] FI ITiRes HH B
(1) e log(l+e) (2) e°
| ' oy
(SJ gt ‘ [4) (E)
08. 'The largest possible area of a right angle triangle whose hypotenous
iIsSem. is:
) 25 25
(1) 25cm’ (2) -~ rem®  (3) - cm’ 4) 15cm’

5 Hofle ol ardr w=epter Brger o/ ofwaT @ S §

() 25af Aotflo @) 2t Aorlo
(3) zz—afiﬁ HoHio : (4) 15 oo

09. The value of Ixxi;] dx is :

dx HI HH B :

"'K\-‘J{-l-l
X+2

(1) 2tan'Vx+1+c
(2) (x+1)+2x+1-2log[x+2-2tan Vx +1+C

(3) 2loglx+2+2tan™ Vx+1+C

(4) loglx+2f +tanVx+1+C
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dx
18
2+ COSX

10. The value of I

( x\! § E \
1y Ja 3 @ 3 & |
\ J . /
x L X
@ Fre @ Z+e

11. The value of T[Jﬁ % + /oot ) ax js ;

0

T(Jt?n X+ c:otx)dx Fr A &
[

1
m E @ 3 8 o @ 7"
. i .
12. The ?alue’of Ihﬂ(‘;‘l)dxla:
P : 1
flﬂg(;-lJ dx =1 = ¥ -
0
1
mr, @2 3 o @ 3
T " P.T.0.
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13. The area bounded by the curve y* - 2y + x =0 and }r-axi; is :

1

(1) 3 4. units (2) g $q. units
8 , 2

(3} Esq. units (4) 3 84 units

aﬁﬁyz-2y+x=oaﬂ1ymﬂﬁﬁrﬂ§§ﬂﬁfﬁ‘éﬂ%ﬁ%f

1 4
1) 3 S (i (2) 3 7 g
3 2 o | < ‘
@) 3 T g @ 3 ¥ IR
14. The order of differential equation 3’+:—i=%]}’ dx is :
(1) not defined (2) 0 (3) 1 (4} 2

e THIEHTOT Y+g£=%jydx H (SATET) Hifr T :

(1) g9y w8 20 0

(3) 1 4) 2
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15. The differential equation corre'epundingtoéﬂlcirclesx”y’ - 2ay = a’,is:
A o ¢y - 2ay =, B AT TG A AL S

(&) 2-2r)eumerac

(2) (_x’-ﬁzf“[ ]~m%}x’=0 '

Eﬂ

(3) (f*ﬂf)[-&%] +4xy%+-x’ =0
(32 *Y’)( J Z-ﬁ-x’ 0

16. The equation of curve passing through the point (0,-2), given that at
any point {x, y) on the curve the product of the slope of its tangent
and y Woof the point is equal to the x coordinate of the point,
is : ’ |

AR o w3 Rl Ry, y) T Sud e e qﬁm (=)
T y i @ gorewe , x Pileis @ aes B, o Reg (0, -2)
|} P} anll o9 wmow wheor ¥ 0

(1) ¥ -x"-4-0 | (2) X+y*+4=0
. 3 ' %2
(3}. %+y‘+2—=0 “) .é_+f—=1

9
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17. Solution of differential equation —> = cos(x +y)}+sin(x+y) is :

18,

19,

dx

SIHA THIHTT %=ws{x+y}+sin(x+y) F B B

(1) 1+tan[";3’J=Cx 2) 1081+tan(x;y1=x+c
(3} Iogil-tag(x+y)j=x+c (4) tan({x+y)=e*+C

Solutions of differential equation :’—;{’f xsin2y = x*cos’y is :
TTHT GHIH T :xl+xsm2y=x’m§’y FHEAE :

& 1 R 2 1
(1) tany.e =§(32—1)c +C (2) e y=§(x‘ +1)+C
@B) e .tany=(x*+ 1)'e"’ 10 (4) tany=(x*+1)e* +C

Suppose the growth of a population is proportional to the number
present. If the population of the colony double in 50 days, then

population will be triple in :

(1) 75 days (2) 25 leg3days

3
(3) 25(-13%] days (4) 25 log, [5] days

10
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g% W T g ) SHEsAr B g W S W @ sweed

FEgTR ¥ 1 AR 50 Rt F wwie @ owen & TR & o B,
@ Ry Rt & i gt & ok ? PR e

(1) 75 R (2) 25 kg3 R
@ 25[%] RT (4) 25_105,(%] e

20.

21.

The angle between two diagonals of a cube is :

g & 4t Twelt 3 fw &% Hivr & 9 B
(1) ﬂﬂ{%]' | é)cwﬂ})
@) 60° . @ 90

Hﬁ]=iO’.- .HuQandaj_a_.ig.themvalmofFXfilis:
AR 8]=10, [b|=2 war 5512 , O [axh| WA B
(1) 16 @ 20 (3 12 (4} 24

» A pair of dice is thrown. If the two numbers appearing on them are

different then prohahahty that the sum of numbers is 6, is;
& 4 e e B R B A A N ¢ ste-o ks @ 6
SRt BT AT 6 D] WY oireRar B

5 o B |
1) o @ @ 3 @ 2

=3 P.T.0,
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23. Inahostel 60 % of students read Hindi newspaper, 40 % read English
newspaper and 20 % read both Hindi and English newspapers. A
student is selected at random. The probability that he read neither

Hindi nor English newspaper, is :

QEFWHTH'&’BO%EHMWW'Q@%%, 40 % BT AN
TER U3 gd & a97 20 % B &< aur eidch - aw=r aE
H Yed ¥ JGTA U B @& g9 BRAT AT B, S99 o
qifaT T B S 9 R A oo geeR O gedr ¥ ?

1 4 3

2
1) 3 2 3 @G 3 4 3

24. There are 3 bags, each containing 5 white balls and 3 black balls,
Also there are two bags each containing 2 white balls and 4 black
balls. A white ball is drawn at random. The probability that white ball

is from a bag of the first group is :

gedt g ¥ AT i g 3 & a9 gds AN 7 5 GhT TU1 3 FHid
et ¥igat go § 2 I ¥ g g0 AX 7 2 A% a0 4 FHA

Ml &1 o gBg Mol gl (el Al 8 | e W 8 3
fovepaT T St SrafE e UER g9 A AR AW ¥ ?

5 1 4 8

12
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25. The standard dcv:at:un of the number ﬂi heads in a mmultaneoua
toss of three coins is :
o7 Ryt ot o Wy B T ¥ & st ﬁwé’ﬁ N AT
R (Rese SRwww) sard ?

U —
M5 @2 @ o’ e 087

I(br-i-c)’ ba ca
26. The value of e '(c'm)ﬂ b  is ;-
' ac b (a+b)]

. g L gam
ac be (.a +:b}z. :
TR (2) (a+b+e)
B gy - ) Zabelarbic)

27. If 'd is a determinant ¢f square matrix A of order n, then the |
- _
determinant of its adjoint is :
* *

aFe (o7dT) B &t ogE A W ARPE T @ B, & gees
ST H AR A 8

(1) o (2)~-d™ @ & W4

13 P.T.0.
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28. The range of the function f{x) = 1 - |x- 2| is:

o f(x)=1-|x-2| Fr aRET & :
(1) (0, =) ) (1,2)
3) (-=, 0] (4) =,1]

29, If a+B=90° then maximum value of sina sinp is :

e G+[§=96° & sina sinp @ AWHAT T B :
ma. @ @0 @

8 -
30. Iftan—= s tani, then the value of cos¢ is:
2 Jl+c 2

qﬁ'tang= }“'_etan%ﬁcosqa H A & :

2 Vi+e
ecosb e—msé
(1} ETTT (2) 1-ecos®
cosfb-e 1-ecos@
¥l T eccet M eEcoap

31. Solation of the equation cdbt8 +cosecl = V3 are :
GHEHOT cotB+cosec 8=v3 & Tl & B :

(1) El=2m+§, neZ ' (2) | 9=2nﬂ-%. neZ

(3) 8=2nn-=, neZ (4) 0=2(n+1)m, neZ

14
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32. If o and B are different complex numbers with |{=1, then value of

p~a|
1-aB 18 :

afE o T4V B MMsﬂmﬁﬁﬂﬂlﬂ,eﬁ f_"‘;m'm

B | . 2

(1) © 2 1 (3) 2 (4) =2
33. Thcvai:un-ofxmﬂsﬁﬁn'ghg;{x’+4x+12)-'2m: |

log (*+ 4x + 12) =2 F T FA T x B AT ¥ -
(1) 2,-4 _ 2 -1,3
3 1,-3 = (4) ~1,+3

34. If a,p are roots of the equation x*- p(x+1) ~c =0, then (a+1){p+1) is
equal to .

AR o,p FAHTT 2= plx+l)-c=0 B gW &, & (a+1)(B+1) = 99
g |

(1) ¢ () 1+c¢ 3 l-c (4) c-1
35. Solution set of 1<|x-2|<3 is :

1<|x-2<3 & wyeaw oo ¥ -
(1) £1,1)U{3,5] (2) [-5,1 U3, 5]
B K§,-3] @ L |

15 P.1.0.
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36.

37.

38.

If the repeatition of the digits are not allowed, then numbers lying
between 100 and 1000 can be formed with the digits 1,2, 3,4 and 5 ; is:

AR ofRl H gl wwg adt B, @ 100 §F 1000 B "emw F 1,2,
3,4 Tur 5 it & waA @ SR TR HW HeEn ¥
(1) 16 @ 20 (3) 60 (4) 120

If 'm' parallel lines in the plane are intersected by a family of 'n’
parallel lines, then the number of parallelogram formed is :
e FE WA § 'm @FEEC @ Bl n' GEEIT SE@eT @i

e Rl B, A I8 ST 9 gEE qAETRR agyet @ e

3
mn -mn(m-1){n-1)
M S (2) 53
(m-1)(n-1) , mn
(3) - | S

Total number of words formed by 2 vowels and 3 consonants taken

from 4 vowels and 5 consonants is :

ST arerdl & 4 @i qur 5 ot ¥ ¥ 2 @ au 3 @t &
AN U TR S o Ee R
(1] 60 (2) 120 (3) 7200 (@) 720

16
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; 10
- a -
39. In the expansion of (\& +;5,-) independent term of x is 405. The *

value of 'a’ is :
(JE+:—,)%mﬁxﬁ-mwwmﬂwsaﬁr'a*wm%:
(1) a=+1 (2) a=+3

B) a=%2 4 a=14

40. Ifa,b,carein AP. and x,y, z are in G.P. then value of x*< y™* 2 js :

. A} a, b, c FFAY A9 (A.P) T X, y, z o Aol (G.p) X ¥ @
X'y g R g
(1) x'y°2 (2) =xyz (3) 1 4) 0

o - l
41. TheaumtontennsufmesmcSTH 3*‘7'—\/"31 5+T_T51 7+ ------- i
+ .

RABTR A rr b e AR R EA LT
(1) J2n+1 @) @n+1-1

1
(3) E-J2n+l (4) %4_2114*1-!]

17
P‘ ano.
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42. Let x be AM. and v, z be two GMs between two positive numbers,

43,

44.

y3 +33

then value of iR

AR & yReTE el H GERY {4 (AM.) x 9T |1 P A

g, al £.12 & A B
(GMs) y 9¥1 z B, s ;
m 5 @ 1 @ 2 @ 3

If circles x° .,.},? -a’and x° + 32-6R—By+ 9 =0 touch externally, then
the value of 'a' 1s :

At a< x2+y"=aiﬁm x2+y2-6x—8y+9=0 U%h {Eﬁ P! ATE:
wqef 4@ &, @A 2 @ A B

(1) 1 gy -1 3) 21 4) 4

If the latus-rectum of an ellipse is one half of its minor axis, then

eccentricity (€) 18 :

ﬁﬁﬁfﬁﬂﬁ@%ﬂﬁﬁﬁaﬁﬂéwﬁiaﬂw%m%w&?

%,aﬁaﬁqaaﬁtﬁzm(elaﬂm%:

] <3
1 k.5
o = (2) N (3) 5 (4)

.nllf\m

18
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2 2

If e, and e, are respectively the eccentricities of the ellipse —lx—s- L=

x?
andthehywboh-g—é?l,thenﬂterelaﬁmbetweene,mdc is

AR e, AU e, FUN : g E+—4—-1 e m __.ué_
#W?,ﬁfqﬂe,ﬁrmﬁmg=

(1)° 3ef+ei=2 (2) ef+2e2=3

(3] 2¢f+e]=3 (4) e’+e=1

Ifthelinesax + 12y + 1 =0, bx + 13y + | =0andcx+ 14y 1 =0 are
concurrent, then a, b, c are in -

(1) H.P. 2) G.P. (3) AP.. {4) abc=1

A @A ax + 12y + 1 =0, bx+ 13y + 1 = O cx+ 14y + 1 =0 U
Regmd ¥, & a,b,c ¥ -

(1) HP. ¥ 2} GP.% (3 APR¥ (4) abc = 1

The angle between the lines whose direction cosines are given by
the equations 3/+ m + 5n =@ and 6mn~2al+ Sim =0 is :

A Y@ B R (d.cs) §HIHIOT 31+ m + 5n = 0 qur
bmn - 2nl + S5im = 0 &I ﬁiﬁ‘lﬁt, ﬁﬁm%ﬁﬂ‘ﬂﬂﬂl%

o) ol oty

19
P.T.0.
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48. If the cartesian equation of a line is 6x -2 = 3y + 1 = 2z -2, then its
vector equation is :

AR 6x -2 =3y + 1 =2z -2 UG J@T HN HAT GBI B, T I @0
H1 AT FHHIOT B -

(1) F=[%i—%}+ﬁ)+l{f+2]+3ﬁ)
@) F=(61+3j+2K)+A(2i-jrk]
(3) f-t%i—%}+ﬁ)+l(i+2]’+3f()

(4) T

(i-]+k]+?..{i+j+f:)

49. The cartesian equation of the plane 7 =3]+s(i+2k)+(-2i-j+k} is
SRR F=3}+a(3+zﬁ)+t(—2i—]+k) FT FHET GHISHOT B
(1) 2x-5y-z+15=0 (2) 2%x+5y+z+15=0
(3) x+2y+2+15=0 4) -x+2y+32+15=0

50. A variable plane which remains at a constant distance 3p from the
origin cuts the coordinate axes at A, B, C then locus of the centroid of
triangle ABC 18 :

o 9% wHAE Sh geiRg § adF 3p M g8 W Rew e & @
a7t FY A, B, C firgall u¥ ufreds @wer ¥ dF Frger ABC & FE

1 farg ® -

i3 1 Lol o 2
(1) xz*yﬁzﬁpz v R e

(4) x2+}'2+zz=9p2

20
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SECTION - It
¥ - I
CHEMISTRY
GG
The anhydride of Ba(OH), is :
Ba(QH), # Teggre ¥ -
(1) BaH, | (2) BaOH
(3) BaO (4) Bao,

Which of the following is true for Br, at standard temperature and
pressure ?

(1) acolourless gas (2) red brown volatile liquid
(3] colourless volatile liquid (4) yellow insulating solid -

A% @19 9 @ 9 Br,® Rie w6 @ ?
(1) Y g 2 o (2) SR-SRT ATRieT s 8
(3) TR aveasfier zq (4) 9T FEEE Ay B

» Atoms of different elements with the same number of neutrons :

{1) isotopes (2) isobars
(3) isomérs (4) isotones
Wﬁ%mmﬂggﬁaﬁmw&w%:
(1) auenfaes L (2) HENTSE
(3) wHETE (4) TGS

21

P‘ T-O.
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54. Cheese is a colloidal solution of :

58.

56.

(1) solid in solid (2) liquid in solid
(3) solid in liquid (4) gas in solid
v o FeEd e ® o

(1) =" & G & (2) o H =d &
(3) = ® 19 & (4) 3" 7 T W

. et
For the reaction 2A+B — C+D, the rate constant 18 1.5x10° S . The

order of the reaction is :

AT 0A+B - C + D& e E RUs 1.5x10*s" ¥ SItHlRaT
&l ife B -

(1) 1 (2} 2 3 O 4 3

The rate constant of a bimolecular gas-phase reaction is found to
follow the Arrhenius equation. Which of the following will result in a

smaller rate constant ?
(1) lowering activation energy
(2) lowering temperature

(3) lowering pressure

(4) [owering concentration of reactants

22
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T f&sro® Ta-oa A Afubar B 3¢ Rutis sIRPEE & adim
PG A ) FH A B, oAy I R, SR w8

(1) mmﬂm (2) A F
(3) a™ ® =Hft (4) SRl F G § &0

Of the following which one is likely to have largest value of the

parameter 'a’ in the Vander Walls equation of state for real gases ?

mﬁﬁmﬁmﬁmaﬁmamm

Frafefaa % & Red fia siften e 2

1) H, 2 N, 3) co, 4) NH,

What is the orbital angular momentum quantum number '(E].af the

electron that is most easily removed when ground state aluminum is

ionized ?

ﬁwﬁmﬁmﬁvﬁmm
mammw%mmmmmm
(¢) = A9 &

1
(1) o @ 5 (3 1 L4 2

23
' P.T.0,
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§9. Under constant current electrolysis, how many coulombs would be
required to reduce 2 mol of Cu” to metallic copper ?

P 91 93 8 O Riga orgaed A ghear § 2 9 Cu” #
qiftas FaT § gaad @ R Rhad At & SEsEwar erf ?
(1} 2 (2) 96,500

i3) 1,93,000 (4) 3,86,000

60. The equation : AH= ¢U+ﬁ5v is applicable alw :
(1) always
(2) only for constant pressure process
(3) only for constant temperature process

(4) only for constant entropy process

HHIFTT AH = AU+PAV STERT & :
(1) #Am

(2) @aw fx @ @ uRea & T
(3) Faer Rert ama &t wikar & f*Q
(4) daw Ry dgdt sfeaw @ R

61. Which of the following is always true for a spontaneous process ?
(1) The process is exothermic
(2) The internal eneigy of the system decreases
(3) The entropy of the system increases
(4) The total entropy of the system plus surroundings increases

24
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A e A e R ¥ 7
(1) g& Sfkar w9 SemEd sk § |
2) P & wiales oot &7 oxft 2

3) P o G wedh ¥

(4) FEE g Su wiEwer i g dpndt agdt R

. Considering 0.1 M ﬁqueous solutions of each of the following which
solution has the lowest pH ?
0.1 M = famam 8 ux i & et pH w91 ey B ?

(1) NaCO, (2} Ne,PO, (3) Na,8 = (4 NaCl

. The Rydberg equatlan predicts accurately the UV-visible spectrum of
‘the hydrogen atom. A form of the Rydberg equation may also by used
to prodict the UV-visible emission for all the following except :

Rewt e, smgom s @ uv-mee Qe @ ad-ad
W B g BT e 3, REw
(1) H @ D | (3) He' (4) Be*

-3 P.T.0,
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64. At a given temperature, the forward rate constant of a one -step is
I | gty ¥ . 2 .
4x10'M ‘s . Given that the equilibrium constant 1s 1x10 °, what 18
the reverse rate constant of the reaction ?

Brlt B T ey w1 gt =wor W ST e Rl 4x107M s R
ofe wramae R 1x107%8 a1, sAfuferm @ Iep T ReTd
B0 |

(1) 8x10°M's’ (2) 4x10°M’'s’
(3) 4x10'M's" (4) 8x10°M's”

65. The two quantum numbers +é d -% for the electron spin represent :

(1) the rotation of the electron in clockwise and anticlockwise
directions, respectively

(2) the rotation of the electron in anti-clockwise and clockwise
directions, respectively

(3) the magnetic momentom of the electron pointing up and down
respectively

(4) two quantum mechanical spin states which have no classical
analogue.

W%W%Wiﬁﬂﬂmﬁwﬁ+%aﬁ1-%aﬁm

g

(1) TAFeT & smen afEoTad a arEER g

(2) ﬁﬁm%wm:maa’mﬂnﬂégyheﬁ

(3) Wﬁ%gﬁzﬁﬂfﬁwﬁmiwa;ﬁ%aﬁﬁma%

(4) ﬁmmﬁmwwﬁﬁmﬁémm
et 8 |
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66. Consider a He atom and a H, molecule At 25° C, the mean kinetic
energy of a He atom is : ‘

{1) two times that of a H, molecule

{2) mepamea'a‘thatofﬁHamplectﬂc

(3) four times that of a H, molecule

(4) half that of a H, molecule

% He AT 3 G%H H, 917 25°C o 1T A ¥ | HeGT] A |1y
(1) H, &9 & "rerfow St &t & 1=

(2) H, ST &t Arepfas S 3 J0EY

@) H,®7 N MRSy St @ AR

(4) H,9v] & wregafdst St w1 avmar

67. The coordination number of 2 metal crystallizing in hep structure is :

hep FXFT | Fheeclid & art wry o) Sraniddes e B
mi2 . @2 4 (3) 8 4) 6

68. For the reaction H,(g) + L,(g) = 2HI(g) the equilibrivm constant Kp
changes with : . -
(1) total pressure
(2) catalyst
(3) the amount of H, and [, present

(4) temiperature

L]
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69,

70.

AT H(g) + (@ = 2HI(g) & f @ra i Kp awean @
(1) FA o F ATy |

(2) AT B FO

3) H,3fX L& "Em & Ay

(4) T B T

A certain buffer solution contains equal concentration X and HX.

The K for X is 107", the pH of the buffer is :
b

%mmﬁxﬁtmaﬁaﬁmlw%lx%fmﬁ, 107"
& @ faegs &1 pHAS § ¢

(1) 4 2 7 (3) 10 @) 14

When 20g of napthoic acid is dissolved in 50g of benzene (kf = 1.72
K.kg.mol), a freezing point depression of 2K is observed. The Vant

Hoff factor is :

o 20 TA iteE o @ 50 W AN # G S ) (kf= 1.72
K kg.mol "), T8 FaIH H oK &Y N 2 IR B | e w6 9 © ¢

(1) 0.5 (2) 1 (3) 2 4) 3
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73.

74.

17U/114/28(i)

2 moles of an ideal gas expanded isothermally and reversibly from
1 litre to 10 litre at 300K. What is the enthalpy change ?

T% AR T P 299, gaada ofiT Sepwig WeRiR § 300 K d
O¢ 1 /T & 108X 0% a5q ¢ | 569 81 a FHol giRkadd= St 1=
B

(1) 498kJ (2) 11.47kJ

(3) ~11.47kJ 4) OkJ

Which of the following is smallest in me.- ?

Pt & @ Reer ok Ga Srer 2 7
1y N @ o* @ F (4) Na'

The percentage of p-character in the orbitals forming P-P bonds in P,
is: |

P, P-Pq & fmior & p-ges @1 feawn s e ST B 7
m s @ 33 @ so @ 75

The chemical composition of slag formed during the extraction of Cu
is: - | |

Cu® Frdqor & s m%l%'rrla—:r TarafrE. gty ¥
(1) Cu,0 + FeS " (2)  PeSIO,
(8) CuFeS, (4) Cu,S + FeQ

29 P.1.0.
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75. A solution of Na,SO, in water is electrolyzed using Pt electrodes. The

products at the cathode and anode are, respectively ?

Na,S0, 3 wefta Reia< & Pt $aagrs & ek [Aga orques S
o 81 e ofX Gle WX HHA: UR A A IR ¥

1] H,O, i 5 (3) O,, Na (4) 0O, SO,

76. Which of the following species is mot a pseudohalide ?

= i § @9 gsieage d 8 7

(1} CNO (2) RCOO (3) OCN (4) NNN
77. Iron is rendered passive by treatment with concentrated :

(1) HCI (2) HNO, (3} H,;SO, (4) H,PO,
W,ﬁmﬁw%wmmmwﬁ%ﬂﬁﬁ:

(1) HCI & (2) HNO, ¥ (3) H,80,9 (4) HPO, @

78. The compound having a tetrahedral geometry is :

Pttt § @ @ Afe H ageeasEd G 8 7
(1) [Ni(CN)}" (2) [PA(CN),)”

(3) [PdCL]” ; @) [NCL]”

30
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79. A metal nitrate reacts with KI to give a black pmcipita& which. on
addition of excess of KI coverts to an m'ange‘mlour solution. The
cation of the metal nitrate ig :
mmmﬁém%mmmwgﬁqaﬂ%#mﬂ
HAferRar & A T & Riera F wew wor B.aifeS a5 w gaEe
B |

W E @ BT @R @ oo

80. Which of the following has the maximum number of unpaired electrons ?

Prefofee & & Readl orgfa sdaget & e gatins § 2

1) Mg* (2) ™ 3 v (4) P

81. The Wﬁon of cyanohydrin 'fmm a kgtnne is an exampie of :
(1) electrophiliic addition I (2) nucléophjmc.addiﬁon
(8} nucleophillic substitution (4] electrophillic substitution
LG U RO TR o S —
(1) RS d @) i A
@) AR AT F(4) @R oy &

24 P.1.0.
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82.

84.

The molecule int which the distance between the two adjacent carbon

atoms is largest is :

{1) ethane (2) ethene

(3) ethyne (4) benzene

QY Tkt FEA gl & dta @t g e o 7 waifes § 7
) &= (2) =

(3) FaEH (4) SN

. How many chinal compounds are possible on monochlorination of

2-methyl butane ?

0. e RN @ AT $ uvEng St e dife B
gegr fnael erlt ¢ |

{1). 2 (2) 4 (3) 6 (4) 8

Which of the following compounds does not get dissolved in
concentrated H,SO, even cn warming ?

(1) ethene (2) benzene

(3) hexane (4) aniline

Rrfefaa 3 @ Sm-ar A, o7 B 9 f T H,S0,H g
e E? |

(1) = (2) Sl

(3) Ba@ - (@) oA

32
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88. The reaction of toluence with chlorine in the presence femc chloride
gives predominently :

(1) benzoyl chloride (2) m-chlorotoluene
(3) benzyl chloride ' . (4) o-and p- chlorotoluene

mmﬁmﬂa@?mm%mm
BT 8 A W WY Y wwr b

(1) 9w TS, (2) m_mzm-q
3) orr s (4). o- 7 p- FAAERGET

86. Chlorobenzene can bcm'eparedbyreacnnganmnc with :
(1) hydrochleric acid -
(2) cuprous chioride
(3) clﬂommemthepreumeormmwmusmcg
(4) * nitrous acid followed by heating with CucCl

WWWMEWWWW&%:
(1) TREEIRT over B ™

) FHE FEE A

3) TTeERE AC! I weRaRy F wiw & am

(4) EE TRE F W AOERER] CuCl @ any w
87. The reagent with which both acetaldehyde and acetone react easily
CI18 T |

(1} Tollen reagent (2) Schiff reagent

(3) Grignard Teagent .. (4) Fehling reagent

38
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B8.

P P R B
aﬂﬁ\ﬂ?ﬂa‘{%%

(1) 2= 3iferd® 2) e AfEHS
(3) Brmmd sfwade (4) el S

The Cannizzaro reaction is not given by :

(1) trimethy] acetaldehyde (2) acetaldehyde

{3) benzaldehyde (4) formaldehyde

Hydrogenation cﬁ' benzoy! chloride in the presence of Pd on BaSO,

gives :
(1) benzyl alcohol (2) benzaldehyde
(3) benzoil acid (4) phenol

34
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90. When sulfonic acid and p-mtrophenol are, m?.ated with NaHCO,, the
gases released respectively are : :

mmﬁmmmp-ﬂnﬁmmﬁfmmaﬂcoﬁmmt a9
st 7R Frevedt @ a8 o B

(1) So,, NO, (280, NO
(3) 80, co, | (4) Only (27).CO,

91. Which of the following bases ig the &tmngwlt ?

Pt % @, watfrs e e ¥ 7
(1) C, Hy NH, (2) p-NO,C,H, NH,
() m-NO,C, H NH, . {4) C,H,CH,NH,

92. Among the following compounds, the most acidic is :
(1} p - nitrophenol " (2) p- hysdroxy benzoic acid
(3) o~ hydroxy benzoic acid (4) p - toluic acid
ﬁmf%rha q Q walfes ooy opor & ¢ |
(1) p- SmEEIRERT (2) p- eEFRAiYeEE o
Bl o- TEEFRINTES T (4) p- AgeH o
93. Among the following polymers, in which one mtennolecular force of
attraction is the" W 7 '
(1) Polyvinyl ehloride | | (2] natural rubber
- (3) nylon (4) cellulose

3 '
5 P.T.0.
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mwﬁwmmﬁmmw
(1) diciiaed F0ES (2) s T
(3) TR (@) JgAST

94. A SN’ reaction of an asymmetric carbon of a compound always gives :

{1 an enantiomer of the substrate
(2) a product with opposite optical rotation
(3) a mixture of diastereoisomers

(4) a single stereoisomer

wﬁﬁm%mqﬁﬂmﬂﬁsfmﬁwﬁ%:
(1) TEEE F G

(2} frofie gefavs goiF amer SR

(3) sEEEeTgarE B T

(4) eAREReTEETE R

95. How will you convert butane - 2 —one to propionic acid ?

(1) Tollen reagent (2) Fehling solution

(3) NaOH/L/H’ @ NaQHINaIIH*

m,%-z-%ﬁﬂﬁ@%mﬁ%ﬁaﬁ?

G o ofem @ B R

(3} NaOH/L/H’ 4) NaOH/Nai/H'
36
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96. [n thermodynamics, a process is called reversible when : -
) mesumunding_sandﬁhesmemchmgemmgachomer'
(2) there is no boundary between thél system and the surroundmgs
(3) the surroundings are always in equilibrium with the system
(4] the system changes into the surroundings spontancously
mﬂﬂém,mnwﬁ'mt‘m:
(1) or FrerERer oM @ wH g F oRaffa & oy &
() mmm%m#ﬂmwm&
@ AR S A B dvr wAa g (s @
(4) W, g&r & arnaer F amor ovtar @

97. The molecule having one unpaired m.in -

T a1 Prad B o g @R §
(1 No @ co B) CN 4 o,

‘93. Which of the following compounds has Sp® hybridisation 9
Frfeite & @ d-w A sp’ w3 7

(1) €O, @ &, @ NO 4 co

~a7 . P.T.0.
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99. Which of the following statements for the order of a reaction is not

correct ?

(I} The order can be dc_termined experimentally

(2) The order of the reaction is equal to the sum of the power of the
concentration terms in differential rate law.

(3) It is not affected by the stoichiometroic coefficients of the
reactants

(4) The order cannot be fractional

o e SR ) AR ¥ aeed o & @ A F
Y |
(1) mmﬁwm%mwmaﬂm%

[2Jﬁ~aﬁaieﬁmﬂ'aﬁm%m€i$zmaﬁﬁmﬁﬁmaﬁ
Ff Fea 8

(3) %W%WW%WH@%%
(4) BT Ff W i &t o g

100.0f the given amions the strongest Bronsted base is :

(1) ClO” (2) Clo, (3) Clo, (4) CiO,

38
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'SECTION - Il
o' - I
PHYBICS

it R

101. The volumes of two bodies are measured to be V,=(10.2 £ 0.02)cc and
V,=(6.4 £ 0.01)cc. What will be difference in Volumes with error limits -

(1) (3.8+001)cc (2) (3.8 + 0.02)cc
(3) (3.8 %0.03)cc . 4 (3.8%0.04)cc

& vt & smraeEt & Agw V-[lOQiﬂOE)eﬁﬁ'ﬂTV'{64:1:001jcc
. %lﬂlﬂﬂﬁ’tﬁrmgﬁﬁ%m%wm

(1) (3.8+0.01)d - : (2) (3.8 +0.02R
(3) (3.8%0.03)d - (4) (3.8 = 0.04)%

102.Which one is correct value of sum of the two numbers 6.75%x10° cm

and 4,52x10? cm with resarda to significant figures :

(1) 72.02x10° cm (@) 7.202x10° cm

(3) 72.02x10° cm (4) 7.20x10° em

U ot ® wawt Fo ofat 6.75%10° Mo T 4.52%10° Aekto
H 4T Wl B

1) 72.02<10° ¥k (2) 7.202x10% &k
@) 72.02x10° ¥ 4) 7.20x10° ¥t

-

39 P.T.0.
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103.The velocity of particle depends upon the time ' according to the
equation v = a + bt + ¢/t. What is dimension of a’?

FOT B AT v =a+ bt + c/t, FHRGT B FPER §9F ¢ 9T P 21
a’ &1 w| ¥ 7

2
@ ] @ ] @ 1) @ [L1]
104, The perpendicular vector of the vectors A = 2i+3j+kand B=i-j+k
is expressed as : _
Frl R-2i+3j+k T B=i-J+k B T T H e B
AT " 8

[ 76 8 { 28 a5 i@
1) -3k @ Jag(2+3i+k)
(é] T%f-i(i+23+sﬁ] ) ?;-3(4i-3-51‘<)

105.The velocity - time equation of a particle moving in a straight line is
V=(10+2t + 3t’). What is the displacement of particle from the
mean position at time t=1 second, if it is given that displacement is

20m at time t=0:

(1) 22m (2) 32m  (3) 42m (4) 52m

o ol W | TR &7 1 38T T V = (10 + 2L+ 36
ﬁm%lwmﬁmmﬂmwmaﬁ%nmm
2 T t=D U 20 Ho W FH R/ E

(1) 227 (2) 320 (3) 4270 (4) 521t

40
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106.An air bubble of radius 1 cm rises from the bottom portion through a
liquid of density 1.5 gm/cm® at a constant speed of 0.25cm/sec’. If
the density of air is neglected, the coefficient of viscosity of the liquid
Is approximately :

1 ¥fto Bt o1 o a1 gegen o A % @ R 0.25 ¥to Ao
L5 3/ 8o’ ® w9 & 53 ¥ ST Joan ¥ | 3R A1g & g &y Ty
aH ¥ oE, B $ weweEs o oie e B

(1) 13000 Pa-S (‘2) 1300 Pa-S

(3) 130 Pa-S (4) 13 Pa-S.

107.An ideal gas is taken through the cycle A B —»C —» A as shown in
the fig. Ifﬂaenetheatmpphedtothcgaamthecycletsw the work
done by the gas in the process CoAls:

(1) ~5J 2y =103
(3) -15J 4) -20J
41
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Wmﬁﬁ%‘rw o Pk ﬁlﬂlﬁﬂﬂﬁ:‘ﬂ‘fﬁﬂ%tﬂﬁ

5 SIeT ST YT FehoT H fRar s B O 9 a1 UsH ¢ AH B
T HE OB

(1) =359 2) -109@ {3) -159@ (4) —20 =

108.The work involved in breaking a bigger size spherical oil drop into n
smaller size identical droplets is proportional to :

T 9% R 1 AT I B 45 B n B AHR B Th G g&
S F A Rar @ e s

(1) ¥n?-1 2 ¥n
3) ¥n?-1 ' | (4) ¥n-1

109.A glass capillary tube of inner diameter 0.28 mm is lowered vertically
into water in a vessel. The pressure to be applied on the water in the
capillary tube so that water level in the tube is same as that in the

vesselinNm” is(T = 0.07 N{Il'*,P =1 05Nm"] :

(1 10° () 99x10° (3) 100x10°  (4) 101x10°

42

[ ]
gcollegedunlaa
India’s largest Student Review Platform

—



17U/114/28(i)

Tk BrE A T R i w4 0.28 fodio Tt o &
ﬁaﬂaﬂmﬁwmwﬁlmﬂtﬁ#mwmw
5 (T4 & O o DR @ F oI @7 =7 &< #
mm%m@n(ﬁwmm‘ = 0.07 =&/, angm
P=10" Jges1,4) :

(1) 10° (2) 99x10° (3) 100x10° (4) 101x10°

110. The volume expansibility of brass and iron are 54x10*k and 36x10”
respectively. They are supported between rigid walls. They are heated
so that they have the same rise of temperature and there is no bending,

If the same thermal stress is developed in therri, the ratio of Yoﬁng’a
modulus of brass & iron will be :

qreret ST W@ b1 AT DT FHL: 54 x 10K T4 36x 10%% D
ﬂ@hﬁ%ﬁaﬂmwﬁlmmmwm%ﬁmﬁ
mﬂgﬂaqaﬂiﬁmﬁﬁmwmmwmm
ST Sd B I AN o B STIIRT B :

(1) 2:3 (2} 3:2 (3 1:1 (4) 4:9

111, The specific heat capactty of a metal at low temperature CI'] is given as
C =32 (T/400)". A 100 gm vessel of this metal is to be cooled from 20 K

to 4 K by a special refrigerator operating at raom temperature 27°C,
The amount of work required to cool the vessel is :

(1} Equal to 0.002 kj (2) greA®r@an 0.148 k;
(3) bcm-ﬁ.d.ti_&_ki&_sﬂ_.ms kj (4) less than 0,028 k;

43
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@W@WWQEWWWWWC=32HHDO]EW
139 Ui & 1000 & O & @ b RS dhiad & s Wl
FHY B ATq 27°C 9T AN &, 20°K ¥ 4" K dF UL o S

2| 9T F 3UET B B AT AEEF FA BN
(1) 0.002 kj & FATEL

(2) 0.148 kj & aiftrp

(3] 0.148 kj @41 0,028 kj & << H

(4) 0.028kj & FHH

112.1f  and v are coefficients of linear, superficial & volume expansion
respectively, then |

113. The following are the P-V diagrams for cyclic processes for a gas. In
which of this process is not heat absorbed by the gas ?

Prg Rt # A9 & 0T W @ p-v R awifar 7 8 | R weR
d e 0 STEeNeer HE B 7

Y

(1 PTT'Q @ vl Q

»

N e
1 1
@ Pl m @ v ﬁ
> >
V— P —
a4
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114.Two carnot engines A & B are operating between two pair of
temperatures (500 K, 400 K) and (400 K, 300 K) respectively, What is
the percentage difference in their efficiencies ?

A PR P A TAB X FH ANHEr HET (500 K, 400 K) o
(400 K, 300 K) G¥ river & | 398 swansit # wfwrr o< e & ?

(1) 5% (2) 10% 3) 15% (4) 20%

115.How for does the sound wave travel in air when a tuning fork of
frequency 256 Hz makes 64 vibration ? (velocity of sound in air = 320

m/sec) :

{1) 60m 2) 70m (3) 8m (49 90m

T @R Rrawt SR 256 &8 ¥ 64 Ao A @y avn ang
ﬁsamgmm?(mﬂaﬁmawsmﬁrum):

{1) 60 (2) 70+ (3} 800 (4) 900

116.A wave travelling along a string is given by ¥ (x, t} = 0.005 sin (80x -
3t} where the numerical values are in SI units. What is frequency of

wave in question ?
(1} 0.005 Hz (2) 0.58 Hz

(3) 0.48Hz - "~ {4 038Hz -

45 P.T.0,
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up T § T @ Ay w1 T y (x, t) = 0.005 sin (80x - 3¢ ¥,
el T gea SI gd § A ¥ 1wy a1 @ omghy v e ?
(1) o.oossgwr (2) 0.58 &gt
3) 0.48 & 4) 0.38 g

117. Write the equation of progressive wave propagation along the p::usiti_vc
X - direction, whose amplitude is 5 cm, frequency 250 Hz and velocity
500 m sec” :
qIaE X -9e @ fRwn ¥ ol aor & welieer @B e
sram 5 Afte, swght 250 Hz 3R 37 500 Ao /A&vE @l
(1) Y=0.05 Sin (500 t - x)
(2) Y=0.05 Sin (100 t - x)
(3) Y=0.05 Sin7 (500 t - X)
(4) Y=0.05 Sin ™ (100 t - X}

118. For the give shape of vibrating wave between (wo f:nds, which onc is
the expression of fundamental frequency for velocity V

RY Ty AT qET @ Tl & e & S A BRI W ATV
F fow g AR F FIE  HA-T0 AW

46
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119.1n open Organ pipe, the possible harmonics will generate ;

(1) Only odd ) Only Even

(3) All numbers (4) Prime numbers
@@Wﬁ-mﬂWMRﬁﬁWméﬁ :
(1) Pow R | (2) daw 77

(3) w4 HeAr (4) TIEH deay

120.The concept of expanding universe is based on the observation of :

(1} Quasars (2} Stark effect

(3) Neutron stars (4) Doppler effect

T e e Frefiied B e 3 oo w3 9y o @
(1) &Y (2) € e

(3) g™ R (4) IR gwE

121.A particle of mass 1.Kg is placed in a potential field. Its potential
energy is given by u = 10x’ + 5. The frequency of oscillations of the
particle is given by :

1mmmmwmﬁmmammmwm
u=1ox“+5f¢m*lw%|ﬁ"r%aﬁ%ﬁmﬁmt

) Jio @ (3) P'u @ B

- ——— R
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| 5 _
122, 1f one mole of a monoatomic gas (T - 3) is mixed with one mole of a
diatomic gas ( - '5-] , the value of y for the mixture is :

- . 7
Ww?fﬂ(f=g]fﬂ%ﬁlﬁmﬁﬂ(1=g}ﬁ%
fra @t T oar B, WEer @ oy " R R
(1) 1.40 (2) 1.50 (3) 1.53 (4) 3.07

123.The length of simple pendulum executing SHM is increased by 21%.
The percentage increase in the time period of the pendulum of

increased length is :

wmﬁaﬁﬁym@wﬁmﬁm%mm%l
ArTE B ot ¥ e afx & ag g B B -
(1} 42% 2 10% (3) 11% 4) 21%

124.At 10°C, the Value of the density of a fixed mass of an ideal gas
divided by its pressure is x At 110°C this ratio is :

10“9mrﬁrw@mmqmmwawwm&a
ara x B 1 110°C AR 9T T8 FIAG BRW

: 383 10 283
(1) x 2) 7% B 1" W Fg3*
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125.A large horizontal surface moves up and ‘down in SHM with an
amplitude of 1 cm, If a mass of 10 Kg (which is placed on the Surface)
is to mmmemﬁuuomiymmmct with it, the mazimum frequency
of SHM will be :

mmmmmﬁbmawmﬁw“ﬁrmwﬁ
a%aﬂtﬂmhmw#maﬂmﬁﬁmwmtm

ﬁmmwmiﬂﬁrmmﬂﬁrmﬂmﬁ
mmm

(1) 5 Hz (2}_ 05H:z (3 15Hz . (4) 10 Hz
126.A spherical convex surface separates object and image space of
refractive indices 1.0 and 4/3 respectively. i radius of curvature of
the surfave is 10 om, then its power is :
1) +25D @ 25D @ «.0D (4 -10p
N i Saw aos W NS 1.0 AGT 4/3 AR ¥
TR & A e e ¥ aR v o B 10 300 & @
SHR ok BFl

(1) fz,sﬁ ‘ fa_]-__ 259 (3) +l1.0# 4) -1.08

-m?_

- 49 . '
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127.A combination is made of two lenses with focal lengths f, and {, and
dispersive powers W, & W, respectively. The combination will be

achromatic if :

A et 7 gareeT R wie gl dur R SEdr A 1, T
gﬁ?wiwwa%lﬂﬂmwﬂﬁm:ﬂ:

(1) W, = 2W, (2) 2W, =W,
f, =2f, f =2f

(3] W, =2W, ' (4) 2W:_=sz
{ = -2f, 2f, =1,

128.1n a single slit diffraction experiment, the first minimum for A, =660

i des with first maxima for wavelcngth A, Then X, is

(1) 220 nm (2) 330 nm

(3) 440 nm (4) 660 nm
@%ﬂﬁaﬁmﬁ,mw A, = 660 nm JeH HEAHTH A,
v Ry & @@ A, @ AW B

(1) 220 7= o | (2) 330 3 Ho

= #o
(3) 440 ¥ Hio (4) 660
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129.The binary coded decimal (BCD}) equivalent of 429 is :

429 % g WRTH s i‘eﬁwa BCD) ¥
(1) 111001110 @) omﬂomomm
(3) 1101011101 (4) 0100101001

(1) lxlg'fn/m [’;?J 2.5x10° m/ Qeﬁ

(3) 2x10° m/sec | (4) 3x10°m/sec
225WW4WW$WRMW
AR -

(1) 1x10%Ho Ato (2) 2.5%10°He Ao
_(3) 2x10°He Ao .' (4) 3u10'=ﬁa/an

131. The electric field Mtedﬂﬂh an electromagnetic wave in vacuum
is given by E = 140cos (Rz - 6 x 10°) where &, 2 and t are in Volt m-’

¥

(1) 2rad/m @) Srad/m

{3) 6rad/m , (4) 3rad/m

B
e P.T.0.
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Fraf & egergraana a1 A Qg & E = {40cos(Rz - 6x10°t) &
T @l E, Z T t HEAW a‘tﬁ'/ﬁ.,thz'fw@%"gﬁﬁlﬁwam

& HIH BN
(1) 2IF=/AN. | (2) 5¥ETAA
(3) 6I%E?.:q==r/rh. (4) 3TN

132.An object ABED is placed in front of a concave mMirror beyond the

centre of curvature C as shown in figure. Then :

im, | > 186 |mgp| <1

(1) |myg}<18mg|<] (2)

(3)  |m,g|<18&|mgp|>1 (4) |mue|> 1 & jmgp| > 1

@maaadﬂrﬁamﬁcﬁﬁmﬁqmaﬁmmmh

femgar, o ¢

B E

ADCF

(1) |m$|<im[mm|<1 (2) | mygl> 1o mep) <1

(3) lmm\clm[mmla-l (4) ﬁ:fimlvlmlmm',}l
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133.When an unpolarized light of intensity I, is incident on a polarizing

Sheet, the intensity of light which IM not get transmitted is :
T, T % g mmer g @ gt smaier S 2 ) s
aﬁtﬁmﬁwaﬂmﬂtiaﬁ: |

m e g > 8 o @ 2

134.The frequency of electromagnetic wave wmch is best suited to observe

a particle ofradms 3%‘10 1 is of the mderof
(1) 10% 2 2) 10" Hz

3) 10" Hz (4) 10" g

wm(ﬁmauo‘rﬂa}%mmﬁwmmaﬂ

SRy enft -
(1) 10% e @ 10wy
3 10%edw (4 10" sdw

- 83 P.T.0
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135. The expression for electric field at Broad - side on position is expressed
as from the figure :

ﬁﬂﬁﬂﬂﬁﬁwwm@mﬁﬂﬁﬁﬁgﬁﬁmaﬁﬁm:

1
1 2p P
(1) g €, r @) an & 1°
- ' " (4) Zero
(3] 471 € 1‘9 { ]

136.In adjoining figure, there is no deflection in the galvanometer. What
is the Value of R 7

i Rt 3, et A g rdra B B s R A
o & ?

70 210
|
Y
(1) 90 (2) '6!.1 (3] 30 4) 10
54
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.137.Magnetic field at the centre of a circulac 1 ‘
: oop of area A A
magnetic moment of the loop will be : . o B The

BA? : . 2BA?
m = @B = @ T @ — I
ot 2 2
' HoX Ko™
IMAmppermofdmmetcr 1.6 mm carries a current I. The maximiam
magnetic ﬁelddun‘ho this wire is 5x10™T. The value of I is :
(1} 02A . (2 o05A 3) 24 (4) 4A

16 Mofio o & oid & am #'1 anr e dver 3 '
SRR GABT WA T A 5x10° e ¥) AW F A G
(1) 02ufggr {2} o.5ufwy

@) 2ofwER @) 4P

139.A 50 cm lmghnrmmctm;a moved with ﬁ speed of 4. msec” in g
magnetic ﬂeld,, B =0.01T as ahom in figure. The emf generated is :

-
XXXXM

I xxx

X XXX [l -
X XXX
X XXXUg

(1) 001V @ 002v (3 o3y (4) 0.04V

e .

g 4 D% 24

. - . P.1.0,
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AB @ 50 Ao sra TEH BF a8 B = 0,01 &M H
4ﬁn/ao_%am%aam%(ﬁaﬁm)aﬂ:ﬂ&gamaﬁm

HM 8N .

X XXX

X XXX

X XXX ||l-—v
% X XX

X XXXUB

b e

(1] 0.01dme (2) 0.02dw (3) 0.03qE (4 0.04dE

140.1n the circuit, shown, the voltage V across the capacitor Cis :

R C
L "R Ve |
E(t}

{1) in phase with source voltage E(t)

(2) leads the source voltage E(t) by 90°

0 0
(3) leads the source voltage E(t) by an angle between 0" & 90 .

0 0
(4) lags the source voltage E(t) by angie between 0 &90.
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constant R is mfR" Nr——— o - e T

_ﬂ@?ﬁm%mﬁm'ﬁ'w%mmh(ﬂj

¥ K @ T et & Rrtbmaegr -
- ¥ R e ; _
) 1 @ 2 @ 3 wwpﬁ(ﬁ?ﬂﬁ%:
57 %
AT.0.
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:oactive nucleus for one mean life 1s :

143. The probability of survival of radio |
waEas S 8

Yedafrea Tite & T W Y # :
c

(1)

antum nature of light emerged in an atmm-pt Fo ¢xplam :
(2) Rlack-body radiation

Atomic Spectura

144. The ideal of qu
(1) Photoelectric Effect

13) Thermionic Emission (4)

aﬁmwwmmﬁﬁm:

syeprer § erareA S i
(11' Prgdfass THE (2) O TR fafasToT
(3) T RRame (4) G Qe

145, Which of the following pairs of nucleio is not isotones ?

Wﬁﬁ:\?\mmg’n(aﬁaﬁq)

7l
1) 3k yd (2) I:Se. 3;Ga
19 v %
(3) Hm wZ (4} Ca. ¢S
42°4a* T

oltages in Ge & Si semi-conductors arc «

146.The Values of Cut in V

‘aﬂﬂrﬁﬁﬂ—zﬂﬁiﬁﬁiﬁlﬂﬁ@m%:

Ge 9l Si
Ge 0.3V (2) Gf’ 0.3V
L 0‘31; i 0.5V
Si :
Ge 0.3V
3V (4)
1 gc g?V 8i 09V
1 ‘
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emitter rétich the collector ?

O SIS = 49 ¥ T6lt Ry o

— M 100% @) os% (3 g (4) 94%

148.In the figure. 2 i : ¥
n the flgune, 2 input Nﬂﬁf)ﬂte is converted inttﬂo":ﬁ

W@iwma@-amwg
O B - ¥ I
A y
() AND.. ) oR

¢ (FB-—)W Ty, RB —qemasrh o ; _E " aﬁ[
B Sty 2 J:—FB
C —> FB & {y‘m.
C
(3) Jg >R o - ;
J. - RB w ¥
-r.c_-“.‘
53 .
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1) Stratosphere
((3]] Mezosphere (4) lonosphere

(1) TR (i) ANE ALY
(3) ASREGHEAT (4) STIARDHIAT
'75,000
60
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ROUGH WORK
I T
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